[NFE—FE T &
50RAVETA [3] G Bfd A =
SADHTHS. OEYDHTE OWT.OIK Thas hEEL LS,
®
- 0 J . 0
2
6
4
1
0
@
— 0 . 0 o
9
3
Ji
8
3)
E - AR 7)) B

studywith.net =¥



[hFE—FE B

50RAUVETA [3]) R &

D2ADHITHL, ORRVDHTZ OVWT. LI ZTeAZ HEE L&D,

®
= 16 19 18 14 0
28 16 14 12 9 10 15 11 13 17
6(4 12 10 8 o5 6 11 7 9 13
416 14 12 10 7 8 13 9 11 15
119 17 1513 10 11 16 12 14 18
0|10 18 16 14 11 12 17 13 15 19
@
= 10 18 16 1/ :
911 9 7.5 2 3 8 4 6 10
37 1513 11 8 9 14 10 12 16
713 11,9 7 4 5 10 6 8 12
82 10 8 6 3 4 9 o5 7 M1
o5 13119 6 7 12 8 10 14

227 g

studywith.net [E="#



